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2 ™ 5 %
(e) EFUHOHAEZRAH 2,293 2,194 4,487
() BEHEOWEBREM 0 0 0
(') ZEFLBHOREEH (e)+b) 2,293 2,194 4,487
(7) HEREEH 811 644 1,455
(1) HBEREEH 633 708 1, 341
(%) FEERBEER 11 6 17
(f) SEEHEH (F)+(1)+(2) 1,455 1,358 2,813
(g) E # F # ()-() 838 836 1,674

b 63. 45% 61.90% 62. 69%

£ 5 5 %

(¢) EFLAOEAREIRS HEEH © 1 2 3
AR ARRE T A AR A OB BT HREER) 0 0 0
(G) FiEEH E)-C) 1 2 3

BB X 0.00% 0.00% 0. 00%

& gt 5 %

X)) HRELAOREBHUEF (e)+(E) 2,294 2,196 4,490
(Y) SREHAEFT (P+F) 1,455 1,358 2,813
(z) ZE#EBHAFH X)-) =@+ 839 838 1,677

S 63. 43% 61.84% 62. 65%




